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Write note on electrophilic reagents.
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what do you mean by carbo-cation? Explain it with examples.
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What do you mean by carbo-anion? Explain it with example.
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Write short note on inductive effect. nge following group in increasing
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Write note on Mesomeric effect.
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Write types of carbonic reactions with the example.
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Explain dehydrohalogenation.
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Explain Friedel-craft alkylation and acylation.
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Complete the foll reaction and write its working method.
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Explain peroxide effect with an example.
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Explain Sy 1 and Sy 2 reaction with one example of each e
serar forfaRea & @ P-wl sy 1 9l sy 2 aifirf 22 z%
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Describe working method of dehydration of primary alcoh:
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T R

T H,S0,
ferafafa—ucseial & freichan =t frafafy =1 fe 9o 9 qHhd o—
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What do n by resonance? Describe its conditions.
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A7 @ 2Tt Conditions for Resonance Q
(i) fordlt oo 1 <1 1 @ A A GrEA S AT WO ~gER F geaHl HAE
(arrangement) ® 471 21 Tehdll €, T 37 WHY] FsHitatomigaticlei) ﬁﬁi‘ﬂﬁwﬁ?ﬁ%l

(ii) W4 TS WETSH (contributing structures) H Aired) T 1 HEA GHME B!
=fgul

(iii) |l ST FCEAIR Y IR FHoll THH A9 AYHT FH =feT 19T |t G 6
T SR FEE BT =hfET

(iv) fergt @107 % et o1 &9 ferg < wedt €, & Aferen Tt S @1 A el
(covalent) S Al GLEAIT ¥ TEGATSTHAl I w1 e TR S T e 2|

18. HySO, & HIY TH $HeA W FeHTd- A wUT=IRd gl ST 8| Hi-3t ¥epia
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Butanol-1 converts into en heated with H, SO, . Which alkene
will be formed mainly? G tsTUPAC name and explain working method

of reaction.
IUT  ogeAra-1 o St
11

C.
H,SO
CH,CH,CHyOH 294, CH,CH, = CH — CH, + H

Heating __ _
2 04 —> H" + H2804

CHBCH,\CHZ—-CHZ—OH+ st?4 = CH3CH,CH3 OH, + 0S0,—H,0
CH3CH,CH, = CH,

VoA &1 IUPAC Butene 2|
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(CH3)3C— Br + KOH—
g (UPBTE 2015)

Complete the following chemical reaction and write working pro
cess of

reaction.
(CH3)3C— Br + KOH——?
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CH3 3
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